INTERIOR TRIM 30.600

BODY STYLES
| FIGURE PART z 4
\. | o £ A
- GROUP, PART MAM RIFTION “ily|Z -
. . NUMBER E ond DESC NUIMBER MODELS o 3 5 E g
: s|8|8|E)| =
1 2]a3]s]|a
40.600 - INTERIOR TRIM
g - ORDERING TRIM MATERIAL
¢ When ordering Trim material be sure to furnish the car serial
k" number, trim code and sample or samples of the trim. Trim material
is available in yardage or complete Trim Assemblies,
In many cases it is more pratical to replace a pleat or section
of a seat cushion or back. When ordering material for a repair job
of this kind, furnish length, width, alse which dimension the stripe
or weave should run. E
Material will be furnished the entire width of the bolt and not
less than one-third lineal vard in length.
Example: One piece material 12" x 17" to be cut with stripe or
nap running the 12" way. Should the material weave run the 12" way
or length of bolt, you will receive a piece of material 12" long.
Its width will be determined by the width of the bolt.
30.602 - COWL TRIM PANELS
: Panel, Hight (Embossed Cardboard)............ 210001 | 491,492,495 1 1] 1
| 30-20-19 | Panel, Left (Embessed Cardboard)............. 210002 [ 491,492,495 1 1] 1
: Panel, Right (Vinvlite)..... .ot iinnnrnrna 210164 | 491 ,492 1] 1
Panel, Left (Vinylite).... ... ... ..t irnurnnnn 210163 | 491,492 il 1
Panel, Right (Carpet Panels)........oeeewauans 210303 | 492,496 1
Panel, Left (Carpet Panels)..........ccueuu.. 210304 | 492,496 1
Panel, Right (Carpet Panels).....couvnerea. +o | 220050 | 492,496 1 1
30-21-35 | Panel, Left (Carpet Panels)............00uvn. 210051 | 492,496 1 1
SBerew with L/W. .. ... it innnnennnnn 203B72 | A1l 10|10 (10(10|10
Houlding and Retainer, Upper.....c.cveevenenn 205248 | 496 2
Moulding and Retainer, LOWET ....cvevnancnsnas 205249 | 496 2
30.604 - FRONT DOOR TRIM PANELS
\ NOTE: The following used with Three Piece
Doar.
Panel (incl. Moulding, Escutcheon and
Fasteners) Right......... .00t iiecnnnnnse. 210067 | 491 1
30-20-15 | Panel {(incl. Moulding, Escutcheon and
Fasteners) Left...........00..... i Pl e 210068 | 491 1
. Panol (inel. Moulding, Escutcheon and
Fasteners) Right......... .ot irininnrnnnnn 210065 | 492 1
Panel {(incl. Moulding, Escutcheon and
Fasteners) Left....... . ccenostcronnsrtnnnnn 210066 | 492 1
Pancl {incl. Moulding and Fasteners) Right... | 210081 | 495 1
Panel (inel, Moulding and Fasteners) Left.... | 210082 | 495 1
J Panel (incl. Moulding and Fasteners) Right... | 210071 | 498 1
N 30-21-21 | Panel (incl. Moulding and Fasteners) Left.... | 210072 | 496 1
NOTE: The fellowing used with One Piece
Door .
Panel (incl. Moulding, Escutcheon and
Fasteners) Right....... ... et rnnnns 210146 | 491 1
30-20-15 | Panel (incl. Moulding, Escutcheon and
Fastenerzs) Left..... ..o niinmininsnenns 210147 | 491 1

257




30.600 INTERIOR TRIM
BODYT S5TYLES
F z 4
i GROUP, PART NAME and DESCRIPTION et) MODELS | *| |5z |3
MHUMBER MUMBER ElE| B2 =
- % = = =
1{2]a3]s]e
30,604 - FRONT DOOR TRIM PANELS (Cont’d)
Panel (Without Moulding, With Escutcheon
and Fasteners) Right (Vinylite)...... cexexa | 210305 | 401 1
Panel (Without Moulding, With Escutecheon
r and Fasteners) Left (Vinylite)............. 210306 | 491 1
Panel (incl. Moulding, Escutcheon and ’
Fasteners) Right (Vimylite)................ 210178 | 491 1
Panel (incl. Moulding, Escutcheon and
o Fasteners) Left (Vinylite)................. 210179 | 491 1
Panel (incl. Moulding, Escutcheon and
Fasteners) Right......... .. ... i 210148 | 492 1 1
Panel (incl. Moulding, Escutcheon and
Festeners) Left. .. ..... o0 vevnncrnnnnnnns 210149 | 492 1 1
Panel (inel. Moulding, Escutcheon and
Fasteners) Right (Leather)....o.uinveeuanes 210280 | 492 1j 1
Panel (incl. Moulding, Escutcheon and
Fasteners) Left (Leather}.................. 210281 | 482 1|1
Panel (incl. Moulding and Fasteners) Right... | 210150 | 495 1
Panel (incl. Moulding and Fasteners) Left..., | 210151 | 495 1
Panel {incl. Moulding and Fasteners) Right... | 210152 | 496 il 1
30-21-21 | Panel (incl. Moulding and Fasteners) Left.... | 210152 | 406 111
FAaStener.... ... u0eus54 terE R E s A e d ke A E e 202301 | A1l ) k| k| k| &
Plate, Right.. ... issstvinsirenssasssnnnnnns 205766 | 491 1
LI o o o A T S PO 205767 | 491 1 b
*¥* | Moulding, Trim Panel, Upper (1/4" Wide)...... |202419 |491 2 2|2 ﬂ‘
** | Moulding, Trim PFanel, Lower (1/4" Wide)...... 206661 (491 2
30-20-13+pMoulding, Trim Panel (1/2" Wide)............. |202618 [491 4
Moulding and Retainer, Trim Panel, Upper
Right {1 1/8" Wide)........ccoviiiiiinnes 205283 (492 11|11
Moulding and Retainer, Trim Panel, Upper,
3 Left (1 1/8" Wideld................ e e A 205282 |492 11|11
\\I Moulding and Retainer, Trim Panel, Lower
(Cloth Trim)..... R et e s ia a Lz P a e s ee e T 205285 (492,495 2
30-21-30 | Moulding and Retaimer, Trim Panel (Leather
and Vinylite Trim)...... ... ... i iinnnannn 205285 (492, 496 4 g |4]4
30-21-25 | Moulding and Retainer, Trim Panel, Upper..... 205284 (496 2|2
Button, Trim Panel, . ........conveutrrnnnnssas 210182 |492 o Lo
30-20-12 | Weathercord, Door Opening (Cloth)........... . (210003 |Aal1l. 2 2 -
Weathercord, Door Opening (Vinylite)....... e+ 210120 | 491,492,495 2 212 “ﬂ?\
Weathercord, Door Opening (Leather)........... 210250 |492,496 2 2 ‘
Weathercord, Front Pillar to Door (Cloth).... |210254 |492 2
Weathercord, Front Pillar to Door (Leather).. [210251 |(492 498 o
Weathercord, Center Pillar to Door (Cloth)... [210252 |492 2
Weathercord, Center Pillar to Door (Leather). |210253 (492 4985 2|2
- | 30.606 - CENTER PILLAR TRIM PANEL
30=20-11 | Panel {(Cloth Trim)...... 3 7 e B £ P e PR b, 5 210004 A1l 2
Panel (Vinylite) ... ..o vvriienunnennannnsnss . | 210307 a1l 2 2
Panel, Right (Vinylite).......v0iuuininncnanns 210167 |491 1
Panel, Left (Vinylite).................c..... |210285 |491 1
e
e I

* As required **Mouldings Used With Panels 210305 and 210306,202419, 202661 ,& 202618,

E‘—='_-_

258




INTERIOR TRIM 30.600

BODY STTLES
T
FIGURE : PART é z 4
NUMBER GROUP, PART MAME and DESCRIFTION MUMBER MODELS E' 3 % E g
1|8|8]5]&
L 1] 2]a|ls5] &
30.606 - CENTER PILLAR TRIM PANEL (Cont'd)
Carpet, Center Pillar Brace Lower Rear,
1 s - M PP PP S G o s e 210278 | 492 1] 1
Carpet, Center Pillar Brace-Lower Rear,
| E o Tt e B e o s B 0 . 210279 [ 492 1] 1
30.607 - SPARE TIRE COVER
30-189-13 | Cover (Vinylite).......cvticenmncrnronnnnnnns 210308 | 491,492 1
Grommet, Clamp Bolt....... .. ccneerrearannnnans 206390 | 491,492 1
Washer, Clamp Bolt......... ..ot iinaannns 208391 | 491 ,492 1
30.608 - REAR DOOR TRIM PANELS
NOTE: The following used with Three Piece
Door .
Panel (incl. Moulding, Escutcheon and
Fasteners) Right... ... ... ivcessnnicansanss 210075 | 491 1
30-20-7 | Panel {(incl. Moulding, Escutcheon and
Fasteners) Left............c¢ccccinnrrnnnnns 210076 | 491 1
Panel (incl. Moulding, Escutcheon and
Fasteners) Right................ R A e e W 210073 | 492 1
Panel {(incl. Moulding, Escutcheon and
Fasteners) Left..... ... .. . i nnnans 210074 | 492 i
Panel {inel. Moulding and Fasteners) Right... | 210083 | 4905 1
Panel (incl. Moulding and Fasteners) Left.... 210@34 495 1
Panel (incl. Moulding and Fasteners) Right... | 210079 | 496 1
30-21-10 | Panel (incl. Moulding and Fasteners) Left.... | 210080 | 495 1
NOTE: The following used with One Piece
Door.
Panel (incl. Moulding, Escutcheon and
Fasteners) Right........ ..o rnnnnens 210154 | 491 1
30-20-7 | Panel (incl. HMoulding, Escutcheon and
Fasteners) Left........ . 0ieevnrnnvennasaa. | 210155 | 491 1
Panel (Without Moulding, With Escutcheon
and Fasteners) Right {(Vinylite)....... e e.. | 210309 | 491 1
Panel, Left (Vinvlite)......coeiiineniccennas 210310 [ 491,492 1
Panel (incl. Mouldinpg, Escutcheon and
Fasteners) Right (Vinylite).............. 210180 | 491 1
Panel {(incl. Moulding, Escutcheon and
Fasteners) Left (Vinylite)............... 210181 | 491 1
Panel (incl. Moulding, Escutcheon and
Fasteners) Right.. ... .. . cceninicrnannne. 210156 | 492 1 1
Panel {incl. Moulding, Escutcheon and
Fasteners) Left.........cccivvnnininnnns 210157 | 492 1 1
Panel (incl. Moulding, Escutcheon and
Fasteners) Right (Leather).......cvenn0u0s 210282 | 492 1| 1
Panel {(incl. Moulding, Escutcheon and
Fastenars) Left (Leather)........vceuweee.. | 210283 | 492 1| 1
Panel (inel. Moulding and Fasteners) Right... | 210158 | 485 1
Panel (incl. Moulding and Fasteners) Left.... | 210159 | 495 1

259




\

30.600 INTERIOR TRIM
BODY 5TYLES
=
FIGURE PART g 3 2
W . =
NUMBER GROUF, PART NAME and DESCRIPTION R MO DELS g E E ; %
-+ ar o= = —
HERERERE
30.608 - REAR DOOR TRIM PANELS (Cont'd)
Panel (incl. Moulding and Fasteners) Right... | 210160 | 496 1( 1
30=21-10 | Panel {(inecl, Mpulding and Fasteners) Left.... | 210161 | 496 i 1
Fastener.......... e laf ettt atate el felalatatals nls s vie i 0 s 202301 | A1l *| ®| ®=| *| *
2 KL e v r e o G e T R A T v.. | 205768 | 491 2
#% | Woulding, Trim Panel (174" Wide)............. 202429 | 491 2 2| 2
30-20-8B**Moulding, Trim Panel (1/2" Wide)............. 202625 | 491 2
Moulding and Retainer, Trim Panel, Lower..... 205287 | 492,495 2
Houlding .and Retainer, Trim Panel {(Leather
v o b B A e R A T OO G R s ... | 205287 | 4592 4
) Moulding and Retainer, Trim Panel, Lower, 205287 | 492 41 4
30-21-13 | Moulding and Retainer, Trim Panel............ 205286 | 498 G| B
Moulding and Retaiper, Trim Panel, Upper..... 205286 | 492 2| 2] 2
Button, Trim Panel.......cciiivunanrincnansnns 210182 | 482 B| B
30=-20-4 | Weathercord, Door Opening (Cloth)......:000us 210003 | All 2 2
Weathercord, Door Opening (Vinylite)......... 210120 | 491,492 , 495 2 2] 2
Weathercord, Door Opening (Leather).......... 210250 | 492,496 2 2
Weathercord, Rear Pillar to Door (Cloth)..... 210255 | 492 2
Weathercord, Rear Pillar to Door (Leather)... | 210256 [ 492 2
Weathercord, Rear Pillar to Door (Leather)... | 210253 | 492,496 2
Weathercord, Center Pillar to Door (Cloth)... | 210252 | 482 2
Weathercord, Center Pillar to Door (Leather). | 210253 | 492,496 2| 2
30.6085 - WEATHERCORD REAR DECK CPENING
Weathercord (Vinylite)....vo v irnrmnnnrrenns 210311 | 491,482 1
40,609 - REAR DOOR FINGER GUARDS
Guard, Front......cvovnnmenres B 210235 | 491 2
Guard, Rear, Right....... ... iinannane: cee. | 210236 | 491 1
Guard, Rear, Left. ... ... . i iiirianrnnrranns 210237 | 491 1
Screw, No. 6=18 x 3/4"™ Rd. Hd. Cr. Rec. Tap TT2 | 491 *
30.610 - REAR QUARTER TRIM PANELS
Panel, Right (Cleth)........oiinnnennnnra- 210005 | All 1 1
30-20-2 | Panel, Left (Cloth).... ... o iiiriinrnnnnnras 210006 | A1l 1 1
; Panel, Right (Vinylite)...... . ciiiunnnnnannas 210312 | 491,492 i
30-19-10 | Panel, Left (Vinylite)...... L - NSRS R LR 210313 | 491,482 1
Panel, Right (Vinylite)............. R 210166 | 491 1
Panel, Left (Vinylite}.......... evecevnaes . | 210165 | 491 1
Screw with L/W. ... . ciicanninraanrrrnnarsnn 203872 | 491 ,492 *
30-19-26 | Moulding, Rear Quarter Finisch (Left only)
(Prime)......c.covevnurunsn e eeaeaaeeae.. | 206420 [ 4892 1
30-19-27 Secrew, No. 8-15 x 778" Ov. Hd. Cr. Rec. Tap, G20 | 492 2
40,611 - REAR COMPARTMENT TRIM PANELS AND
WINDEREAK
Panel, Side Trim, Right (Leather Trim only).. | 203412 | 492,496 1
Panel, Side Trim, Left (Leather Trim only)... | 206182 [ 492,496 1
Panel, Side Trim, Front, Right (Carpetl)...... 206103 | 492,496 1
Panel, Side Trim, Left (Carpet).............. 206104 | 492,496 1
Panel, Side Trim, Right (Carpet)............ . | 206105 | 492 1
Panel, Side Trim, Left (Carpet).....cousuuvans 206106 | 492 1

* As required **Mouldings 202429 And 202625 Used With Panel 210309,

260




INTERIOR TRIM 30.60C
BODY STYLES
FIGURE PART E. Z <
MUMBER GROUP, PART MAME and DESCRIFTIOM HUMEER MODELS ; E: % E g
HEAHHBEE
1Tlafals]a
30.611 - REAR COMPARTMENT TRIM PANELS AND
WINDEREAK (Cont’d)
Panel, Side Trim, Right............ R R e 202678 | 496 1
Panel, Side Trim, Left........ c0oiiiiiiunnnns 205247 | 496 1
Carpet, Hear Trim, Right (Leatﬁer Trim only). | 206107 | 492 1
Carpet, Hear Trim, Right..................... 206107 | 492 1] 1
Carpet, Rear Trim, Left {(Leather Trim only}.. | 205128 | 492 i
Carpet, Rear Trim, Right (Leather Trim)...... 206129 | 496 1
Carpet, Rear Trim, Left (Leather Trim)....... 206330 | 496 1
Panel, Tool Compartment Trim. .. .......c00e0ca. 202680 | 496 1
Panel, Tool Compartment Trim (Carpet)........
{Leather Trim only) ..ot i i snenneensnnnas 203414 | 492,496 1
Panel, Tool Compartment Trim (Carpet)........ 203414 | 492,496 1] 1
Retalnmer . ... ..... .. it irnstnnanasnnnnnnns 203256 | 495 1
Screw, No. 6=-18 x 378" Rd. Hd. Cr. Ree.
Tap., (Chrome).......ccvuiinininnrnnnnnns 625 | 496 3
Screw with LAW. .. .uveennns FA RN e e e 203872 | 492,496 TI10(10
¥Windbreak, Rear Compartment............ P 203257 | A1l 1 1 1
¥Windbreak, Rear Compartment (Leather Trim
only) (Carpet).....cocriiiiiirierrrnnssnnas 208102 | 492 495 1
Windbreak, Rear Compartment {(Carpet)......... 205102 | 492 1
Windbreak, Rear Compartment (Carpet)......... 206101 | 492,496 1
Fastenmer. .. ... .t imie et sasase e 202452 | A11 4 4
30.612 - HEADLINING, BOWS & COVERS
30-20-3 | Headlining (less Bows) (Cloth Trim).......... 210027 | 491,492,495
30-21-5| Headlining (less Bows) (Cloth Trim).......... 210113 | 4986
Headlining (less Bows) (Vinylitel)............ 210169 [ A11 1
Headlining (less Bows) (Cleth Trim).......... 210183 | 492 1
Headlining (less Bows) (Vinylite)........ vee. | 210315 | 491,492 i
Bow, Roof Top, Wo. 1 (Cloth Trim)....... weers | 205604 | A1] 1
Bow, Roof Top, No. 2 (Cloth Trim).......c.00... 205605 | A11 1
Bow, Roof Top, No. 3 (Cloth Trim).....ovuevu.. 205606 | A1l 1
Bow, Roof Top, No. 4 (Cloth Trim) .........c.. 205607 | A11 1
Bow, Roof Top, Wo. 5 (Cleth Trim).......... .. | 2058808 | a11 1 i 1
Bow, Roof Top, Wo. 2 (Vinylite).............. 202435 | A1l 1 1| 1
Bow, Roof Top, WNo. 3 (Vinylite).............. | 202436 | A1l 1 1] 1
Bow, Roof Top, Wo. 4 (Vinylited.............. 202437 | A1l 1 1] 1
*Bow, Roof Top, Neo. 5 (Vinylited............ .. | 202438 | A1l 1 1] 1

261




30.600 INTERIOR TRIM

BODY STYLES |
=
4 FIGURE & z ‘ﬂ
goute GROUP, PART NAME and DESCRIPTION NZ‘EER MODELS | % | Zl: 2
= +|S (5|5 &
HNIERERERR
30.612 - HEADLINING, BOWS & COVERS (Cont’d)
Bow, Roof Top, No. 6 (Viaylite)............. . | 203607 | ALL 1 1] 1
Bow, Roof Tep, No. 7 (Vinylite).............. 202440 | A1l 1 1
Bow, Roof Top, No. B (used as No. 7 Utility
| CAr ) (VANFLLEE) vt v ve i vmen s nmnmamennnns 202441 | 411 1 2| 1
| " Bow, Roof Top, No. l.....iienisisnnananincnas 205905 | 492 ) 1
Bow, Roof Top, Ho. 2., ... .. iiunnsnsnns 205906 | 492 i
Bow, Roof Top, Ho. 3., ... v ssnincnsnssnses 205907 | 492 1
Bow, Roof Top, No. 4., ... ..t ocannssnsss 205908 | 492 1 m
Bow, Roof Top, No. 5.....c0cccesiinsccaasnnss 205909 | 492 1 I
Bow, Roof Top, Ho. B. . ... ...t uirrnonnsnnns 206136 | 492 i
Bow, Roof Top, No. 7. ... innrennannns 206137 | 402 1
; Serew, No. B-15 x 1/2" Rd. Hd. Cr. Rec. Tap 567 | All 12 4| 41132
il Flatwasher, No. 8 8m.......... .o uveinnans 315 | All 12 4 412
| Grommet, Headlining BowsS........eveuneeniacaan 205068 | All * | w| %
i 30-20-5 | Binding, Wire On {Cloth)......... ... ... ... 210114 | A1l 2 2
Binding, Wire On {(Leather).........ccevercnnnn 210277 | 492,496 2
Binding, Wire On (Vinylite)........ce.crenann 210302 | 491,492,495 2 2| 2
! Binding, Wire On (Rear Bow){Outside)......... | 210337 | 492,496 1
5 Cover, Rear Window Lower to Shelf Panel Trim. | 210112 | 496 1
' End Tip, Wire'On Binding, Right (Chrome)..... 206371 | 492,496 2
l End Tip, Wire On Binding, Left (Chrome)...... 206372 | 492,496 2
| Screw, No. 4-24 x 1/2" Ov. Hd. Cr. Rec.
! Tap. (to Bow, No. 4 and Belt Line)....... TT1 | 492,496 4 ﬂ
i - 30-20-17 | Cover, Windshield Pillar (Cloth Trim)........ 210007 | 491,492 405 2
il Cover, Windshield Pillar (Vianylite).......... 210316 | 491 ,492 405 2 2| 2
T Cover, Windshield Pillar, Right.............. 210110 | 496 1
h Cover, Windshield Pillar, Left......c.vvnnune 210111 | 496 1
f Cover, Windshield Pillar, Right.............. 210184 | 492 1
: Cover, Windshield Pillar, Left............... 2101B5 | 492 1
| Cover, Windshield Pillar (Leather)........... 210317 | 492,496 2
; Strip, Rear Quarter Trim Panel, Tacking...... 205069 [ A1l =z 2 2
:. Strip, Headlining, Rear Tacking.........cc000. 202914 [ A11 2 21 2
:1 Strip, Headlining, Front Tacking............. 206070 | A1l 2 21 2
Strip, Center Pillar Tacking.......-.000vr-na 205071 | ALl 4 4
| Strip, Front Body Pillar Tacking. el .. | 205072 | ALL 2 21 2
Strip, Rear Compartment Lid Dpening Frame,
UPPEr TACKIDE . - v v v e nveme e vs cannnsnesnnns 206189 | 491,492 2 f@
; Strip, Rear Compartment Lid Opening, Lower,
] Brace Tacking. . ... ettt innnnnenonranss 206191 | 491,492 2
: Strip, Rear Quarter Trim Panel, Lower Tacking | 206192 | 491,492 2
i Strip, Front Pillar Tocking. ............. ... | 206099 | 492,496 2| 2
i Strip, Rear Pillar Tacking..........vcveun.. 206100 | 492 2
|
| 30.6125 - REAR DECK WIRE -ON BINDING
Binding, Wire On (Vinylite)........ouinrunnnn 210318 | 491,482 1
30.6126 - REAR WINDOW TRIM COVERS
Cover, Side, Right (Vinylite).........ccc-0-. 210319 | 491,492 1
Cover, Side, Left (Vinvlite)................. 210320 | 491,402 1
Cover, Lower (Vinvlite)........convavncernnns 210321 | 491,402 1
Cover, Upper (Vinylite)..... .. covunvnnernans 210322 | 491,492 1 &
l

* Az required

| 262




INTERIOR TRIM 30.600
BODY STYLES
]
[=]
o GROUF, PART NAME and DESCRIPTION el mopets . | %[ .|3] .3
NUMBER HUMBER glE|8|12| =
=2 | | > = =
BEREEERD
30.6126 - REAR WINDOW TRIM COVERS (Cont'd)
Screw with L/W. . ... . .ottt iieear e 203872 | 491,492 16
30.6127 - WINDSHIELD HEADER TRIM PANEL
Panel......o.iiuincnsss B Ay LA L - e 210323 | 492 498 1
30.6128 - UPPER DECK HINGE COVERS
30-19-12 [ Caver, Right (Vinylite)...................... | 210339 | 491,492 1
Cover, Left (Vinylite)............. E o T PR 210340 | 491,492 1
Filler, Hinge COVEr. .. viviurarinrnnarnns D i 206342 | 491,492 4
Pad, Hinge Cover....... ... cirvirnnrrnnnsnanann 206343 | 491,492 2
30.614 - DOOR ARM RESTS
NOTE: Celor denotes Base - Cover by Trim
Code.,
NOTE: A physical check will be necessary
before ordering Arm Rest on Model
405
30=20=14 | Arm Rest (Starlight Pearl){(Cloth)............ 210017 | 491,492 4 4
Arm Rest (Starlight Pearl)(Vinylite)........ « | 210263 | 491 4 2( 4
Arm Rest (Starlight Pearl)({¥inylite)......... 210265 | 492 4 3
Arm Rest (Starlight Pearl){Leather).......... 210258 | 492 4| 4| 4
Arm Rest (incl. Moulding)(Starlight Pearl)
A K e i e i R L s 210052 | 495 4
Arm Rest (incl. Moulding)(Starlight Pearl) —
{(Vinylite).,...... i 210266 | 495 4
Arm Rest (incl. Hnuldingj{starlibht Pearl)
Right (Cloth). .. ... .. ...t nnnennnnn ... | 210053 | 405,496 2
d0-21-9 | Arm Rest (incl. Moulding){Starlight Pearl)
Left (Cloth)...... .. coiuioniiiians .- | 210054 | 495-496 2
Arm Rest (incl. Moulding)(Starlight Pearl)
Right (Leather). .. ... oo nnas 210261 | 496 2| 2
Arm Rest (incl. Moulding)(Starlight Pearl)
Left (Leather)......c.o0ucuu. e elatsfnte telclalaler =Y s e 210262 | 496 z2| 2
Arm Rest (incl. Moulding)}{Teal Blue) Right
L= ) B e R P £ P YT MY 0 1 0 A Pl et 210055 | 496 2
30-21-9 | Arm Rest (incl. HouldinHJ(Teal Blue) Left
Lot h L R e s e 210056 | 496 2
Arm Rest (incl. Moulding){Teal Blue) Right )
L=y o T o s e 2102590 | 496 2
Arm Rest (inecl. Hnuld:ngJ(Teal Blue) Left
(Leather) . . .o iinnenennstaninn. L e, R T 210260 | 496 2
Arm Rest (incl. Moulding)(Garden Green)
L o e L S i, 210057 | 496 z
30-21-9 | Arm Rest (incl. Moulding)(Garden Green) Left 210058 | 496 2
Arm Rest (incl. Moulding)(Dubonnet) Right.... | 210059 | 496 2
30-21-9 | Arm Rest (incl. Moulding)(Dubonnet) Left..... | 210060 | 4986 2
Arm Rest (inel. Moulding)(Blade Green) Right. | 210061 | 496 @
30-21-9 | Arm Rest (incl. Houlding)(Blade Green) Loeft.. | 210062 | 496 2

263




30.600

INTERIOR TRIM

BODY STYLES
=z
FIGURE PART b i -
GROUP, PART NAME and DESCRIPTION MODELS BlelZiz] s
NUAMBER NUMBER alE|8|2| =%
- L Ed = =
HERERERE
30.614 - DOOR ARM RESTS (Cont'd)
Arm Rest {incl. Moulding) (Wedgewood Blue)
Right (Cloth).....coi i rncsrennsnnnanans 210063 | 496 2
30=21=9| Arm Rest (incl. Moulding) (Wedgewood Blue)
Left (CLloth) ... oveeueinannnmnnnnsvscsnsans 210064 | 406 o
Arm Rest (incl. Moulding) (Wedgewood Blue)
Ripght (Leather)..... B E BN EEE e e E s e 210263 | 496 2
Arm Rest (incl. Moulding) (Wedpewood Blue)
Left (Leather)....covcimansnsr R A o i, 210264 | 496 2
Bolt, 1/4"-20 x 2 1/8" Hd. Hd. E51.
{&rm Rest Base to Retainer). .| 202726 | All
Speednut, No. 14 {Door Arm nest Attanh:ngj 204630 | ALL *( x| *| *
Screw, Neo. 10-12 x 172" Rd. Hd. Cr. Rec.
Tap. (Arm Rest to Inner Panel)............ 648 | A1l *| *| x| ¥ &
Scrow, No. 10-12 x 578" Rd. Hd. Cr. Rec.
Tap.(Arm Rest Base to Retainer)..: ....... G622 | 496 * | *
Screw, No. 14=10 x 2" Rd. Hd. Cr. Rec.
(Arm Rest tO DOOF) .. v i vmerernesensossns G683 | A1l * | ®
Screw, No. 6-18 x 3/8" Rd. Hd. Cr. Rec.
Tap.(Arm Rest Frame to Plate)............ T56 | 491,492 | #] K| ] =
Moulding, Arm Rest (Chrome)...... .o iniannnsn 205035 | 4935 4
Moulding, Arm Rest, Right (Chrome},........... 205033 | 496 2| 2
30-21-8 | Moulding, Arm Rest, Left (Chrome)._ ........... 205034 | 496 2| 2
Clip, Door Arm Rest Mouldinmg................. | 2050667 | 496 2| 2
30,616 - FRONT SEAT CUSHION AND SEAT BACK
30-20-21 | Cushion Complete, Seat....... .ot 210022 | 491 1
Cushion Complete, Seat (Vinylite)............ 210294 | 491 1
Cushion Complete, Seat (Vinylite)............ 210168 | 491 1
Cushion Complete, Seat (without Bolster)..... 210085 | 402 1
Cushion Complete, Seat {with Bolster)........ | 210121 | 402 1
Cushion Complete, Seat (Leather)............. | 210288 | 492 1
Cushion Complete, Seat (Leather)............. 210243 | 492,496 1
Cushion Complete, Seat (Leather and Bedford). | 210269 | 492,496 1
Cushion Complete, Seat (without Belster)..... 210186 | 492 1
Cushion Complete, Seat (with Bolster)........ | 210187 | 492 1
Cushion Complete, Seat.......oeccewece-a--a.. | 210086 | 495 1
30-21-37 | Cushion Complete, Seat.......ousenvsrrressrs- 210008 | 496 1
Covar, Seat Cushion. ..... ..o ciununns 210023 | 491 1
Cover, Seat Cushion (Vinylite)............... 210293 | 4901 1
Cover, Seat Cushien (Vinylite)............... 210170 | 491 1
Cover, Seat Cushion (without Bolster)........ 210087 | 482 1
Cover, Seat Cushion (with Bolster)........... 210122 [ 482 1
Cover, Seat Cushion (Leather)................ 210211 | 492,496 1|1
Cover, Seat Cushion (Leather and Bedford).... | 210212 | 492,496 1
Cover, Seat Cushion (without Bolster)........ 2101588 | 492 1
Cover, Seat Cushion {(with Bolster}..........- 210189 | 482 1
Cover, Seat Cushion......... ... 210088 | 485 1
Cover, Seat Cushion........ ... cceitrrnnnnnnns 210009 | 496 1
Pad, Seat Cushion (Rubber}...........cia0000n 205364 | 491 1
Pad, Seat Cushion (Rubber) (used w;th Bolster) | 205364 | 492 1 1
Pad, Seat Cushion (Rubber)}.......l........... 205364 | 495 1

* As reguired

264

2




INTERIOR TRIM

30.600

BODY STYLES
=
’ FIGURE PART 2 z .
Ao B
e GROUP, PART NAME and DESCRIPTION NUMBER MODELS o % é ,E g
+|o|F |52
HEEERE
] 30.616 - FRONT SEAT CUSHION AND SEAT BACK
(Cont’d)
{ Pad, Seat Cushion (Rubber)(used without
LT o T S i sl 205366 | 492 1/ 1] 1
l Pad, Seat Cushion (Rubber)..........vvevueuns 205366 | 406 1
| Pad, Seat Cushien (Rubber)................... 205365 | 496 1
30=20=10 | Cushion Complete, Seat Back..........0o0o...... 210024 | 491 1
: Cushion Complete, Seat Back (Vinylite)....... 210171 | 491 1
Cushion Complete, Seat Back (without Arm -
Rest and Bolster)..... ... .00 vnieonnnnen.. 210090 | 492 1
Cushion Complete, Seat Back (without Arm
Rest with Bolster). ... .. ... vvrennnnnnnnnn 210123 | 492 1
Cushion Complete, Seat Back (with Arm Rest
without Bolster) ... ... ...ttt i nnrernnnna 210124 | 492 1
Cushion Complete, Seat Back (with Arm Rest
i and Bolster) .. ... ... it 210125 | 4092 1
| Cughion Complete, Seat Back (with Arm Rest
' without Bolster)(Leather)......ooveeennnnsn. 210335 | 492 1
Cushion Complete, Seat Back (Leather)........ 210230 | 492 1
Cushion Complete, Seat Back (Leather and
Bedford) ... o ot iiinimmnnnnnenaansnnnnens 210287 | 492 1
Cushion Complete, Seat Back (without Bolster) | 210190 | 492 1
Cushion Complete, Seat Back (with Bolster)... | 210191 | 482 1
Q Cushion Complete, Seat Back (without Arm
Rest) ... iiiinnninininnas T s S 210089 | 495 1
Cushion Complete, Seat Back (with Arm Rest). 210117 | 495 1
30-21-15 | Cushion Complete, Seat Back (Bedford with
y Arm REZt) . ... it st 210011 | 496 1
i 30=21-15 | Cushion Complete, Seat Back (Broadcloth
f with Arm Rest)........ A B e m e s e 210010 | 498 1
Cushion Complete, Seat Back (Leather)........ 210240 | 496 1
Cushion Complete, Seat Back (Leather and
Bedford) ... .cu.isvnmenermnaaranassnicennens 210272 | 496 1
Cover, Seat Back Cushiom........c0ununenrnnns 210025 | 491 1
Cover, Seat Back Cushion (Vinylite).......... 210172 | 491 1
Cover, Seat Back Cushion (without Arm Rest
Bnd BolsSter) . ... .0 uenn oo snnnennennnnen. 210091 | 482 1
m Cover, Seat Back Cushion (without Arm Rest
\ With Bolster). . v ieeiearrnarrnrnnnanas .- - | 210126 | 492 1
r Cover, Seat Back Cushion (with Arm Rest
without Bolster)............ ... ... irnnwn. | 210127 | 402 1
Cover, Seat Back Cushion (with Arm Rest
and Bolster) ... .covnveninriacnccssnnrrnnnes 210128 | 492 1
/ Cover, Seat Back Cushion (with Arm Rest
without Bolster)(Leather)..........couvu... 210336 | 492 1
Cover, Seat Back Cushion (Leather)........... 210213 | 492 1
Cover, Seat Back Cushion (Leather and
Badford) ..ot i i bt a i e +. | 210214 | 492 1
Cover, Seat Back Cushion (without Bolster)... | 210182 | 4892 1
Cover, Seat Back Cushion (with Bolster)...... 210193 | 492 1
Cover, Seat Back Cushion (without Arm Rest).. | 210092 | 495 1
Cover, Seat Back Cushion (with Arm Rest)...., 210118 | 495 1
I m Cover, Seat Back Cushion (Bedford with Arm
. - 1 e R L 210039 | 496 1
NOTE: For Front Seat Back Cushion On Traveler See 210324 On Page 257.
265
e i e i e e S



30.600 INTERIOR TRIM

BODY STYLES
z x
G GROUP, PART MNAME and DESCRIPTION A MODELS Ll i * 3 %
MUMBER MUMBER alalg|2|%
T | | = =] =
] 2 3 -] &
30.616 - FRONT SEAT CUSHION AND SEAT BACK
(Cont'd)
Cover, Seat Back Cushion (Broadcloth with

ATE BASEY o v v uiewins s s ainlans s senssssssassns 210012 | 496 i
Cover, Seat Back Cushion (Leather)........... 210215 | 486 1
Cover, Seat Back Cushion (Leather and

Bedford) ... coci i caisasiasicrssniins vee- | 210216 | 496 1
Arm Rest, Center (used without Bolster)...... | 210129 | 492 1
Arm Rest, Center (used with Bolster)......... 210130 | 492 1 m
Arm Rest, Center (used without Bolster) 3

(Teather) . ..ot a i snissnsnnrrnsnsnnrnsnssmean 210331 | 492 1
Arm Rest, Center (Leather).........ccciva00as 210241 | 492 1
Arm Rest, Center (Leather and Bedford)....... 210268 | 492 1
Arm Rest, Center (used without Bolster)...... 210194 | 492
Arm Rest, Center (used with Beolster)......... 210185 | 492 1
Arm Rest, Center.. ... it cncuriacnaaansconanns 210106 | 495 1

30-21-2 | Arm Rest, Center.. ... ... v iunriannsranranaas 210049 | 496 1
Arm Rest, Center (Leather)......_ .._.. PR T 210242 | 496 1
Arm Rest, Center (Leather and Bedford)..... .. | 210274 | 496 1
Cover, Center Arm Rest (incl. Strap)(used

without Bolster).....ccvaniiarnnsnrarennas. | 210131 | 492 1
Cover, Center Arm Rest (incl. Strap){(used '

with Boalster) . . .....ccierinnsiananncnnnnnns 210119 | 492 1
Cover, Center Arm Rest (incl. 3trap)(used ﬂ

without Bolster)(Leather). .. . i scasiatnnnass 210332 | 492 1
Cover, Center Arm Rest (imel, Strap){Leather} | 210219 | 492 i i
Cover, Center Arm Rest (inel., Strap)(Leather

and Bedford)........coveniiviirerecsnns c ... | 210220 | 492 1
Cover, Center Arm Rest (incl. Strap)......... 210196 | 492 1
Cover, Center Arm Rest (incl. Strap)......... 210107 | 495 ) 1
Cover, Center Arm Rest (imel., Strap)......... 210093 | 496 1
Cover, Center Arm Rest (incl. Strap){Leather) |210217 | 406 1
Cover, Center Arm Rest (incl. Strap)(Leather

and Bedford)....oiuinesnarsnsaasansuna sesss | 210218 | 496 1
Valance, Center Arm Rest (used without

Bolster oh 4921)........... i P e ORI 210108 | 492,495 1
Valanco, Center Arm Rest (used with Bolster). | 210133 | 492 1
Valance, Center Arm Rest................ccv.- 210197 | 402 1 "’T
Yalance, Center Arm Rest........o i nnnnns 210094 | 496 1
Valance, Center Arm Rest (Leather)........... 210221 | 492,496 1
Valance, Center Arm Rest {Leather and

Bedford) . ....veiiiinacrnnnnssnsacassnine.. |210222 | 492,406 1
Linkage, Arm Rest, Right......cccevivrnnnnnnn 203156 | 492,495,496 1
Linkage, Arm Rest, Left....... ..o iinnnans 1203157 | 492,495,496 1

Screw, No. 14-10 x 172" Rd.

Hd. Cr. Rec..‘.....iii...:..i to L. 619 | 492 495,496 *

Lockwasher, 1/4" Ext. Tooth...|Support|.... 370 | 492,495,496 *

Nut, 1/4"-20 Hx. Lt...... —_— PRy 203 |492,495,496 *

Boelt, 1/4"_20 x 1" Rd. Hd. &

s - J ﬁr; P 669 (492,495,496 *

Lockwasher , 1/4" Med.......... Rest Pees 190 | 492,495,496 *

Flatwasher, 1/4" 8m........ccun L eatate 243 | 492,495,496 * &
Spring, Valance to Seat Frame................ |203158 |482 495,496 2 G\'
Linkage, Arm Rest, Right...... R e Ay P 206068 | 492,496 1|1

*# Az required
266

'i_ |




INTERIOR TRIM

30.600

BODY STYLES |
=z
FIGURE PART g z ..,
HUMBER GROUFP, PART MAME and DESCRIFTION MUMBER MODELS E g % g ;._:
sjols|ls5]=
HNEREEE
J30.616 - FRONT SEAT CUSHIOMN AND SEAT BACK
[Cont’d)
Linkage, Arm Rest, Left.................... «+ | 206067 | 492,496 1] 1
Bolt, 1/4"-20 x 5/8" Rd. Hd. .
Cri oo G o e L‘:k"g‘g 505 | 492,496 |
Lockwasher, 1/4" Med........ i @ 190 | 492,496 | *
Nut, 1/4"-20 Hx. Lt....... o o | EPELDER| NG 203 | 492,498 | *
Bolt, 1/4"-20 x 5/8" Hd Hd Linkage
e e T P R P to 505 | 492,496 *
Lockwasher; 1/4" Med.......... Basao 190 | 492,496 *
Bolt, 1/4"-20 x 5/8" Rd. Hd. Spring
L I - to e 505 | 492,498 ¥ %
Lockwasher, 1/4" Med...... ....| Base 190 | 492,495 L
Spring, ¥Yalance to Seat Frame, 206068 | 492,486 1] 1
30-20-22 | Cover, Seat Frame (Front and Sidas}{used :
without Arm Rest and Bolster).............. | 210096 | 491,492 1
Cover, Seat Frame (Top, Side=s and Rear)
L 4 e o 210324 | 491 1
Cover, Seat Frame Shield, Right {Vinylitej 210325 | 491 1
Cover, Seat Frame Shield, Left (Vinyl;te},,.. 210326 | 491 1
Cover, Seat Frame {Front, Sides and Rear)
o e B T U N 210173 | 481 1
Cover, Seat Frame (Sides and Rear){used
with Arm Rest and Bolster).....cveveeunaans 210135 | 492 1 1
Cover, Seat Frame (Sides and Rear)(used
without Arm Rest with Bolster)............. 210134 | 492 1 1
Cover, Seat Frame (Front, Sides and Rear)
(Leather) . ..o cvvansasnrnananansssarsans «oe | 210249 | 492,496 111
30-21-38 | Cover, Seat Frame (Front, Sides and Rear)
{used with Arm Rest) . ... ... .0 rrrennnnnns 210095 | 492,495,496 1 1
Carpet, Front Seat Foot Rest, 3ide, Right
{used without Arm Rest and Bolster on
492 and 495) .. ... ciei it iy e ke . | 210015 | 491,492,495 1
30-20-29 | Carpet, Front Seat Foot Rest, Bide, Left
{used without Arm Rest and Bolster on
492 and 495} .. o v iv s ea e FEAEE e R AR 210016 | 491,492,495 1
Carpet, Front Seat Foot Rest, Side, Right
{used with Arm Rest and Bolster on 492
aRd 285) ... .. . imice e nmmmE et 210013 | 492,495,498 1| 1] 1
30-21-43 | Carpet, Front Seat Foot Rest, Side, Left
{used with Arm Rest and Bolster on 492
A A G L R i T e e e alaurete e 210014 | 492,495,496 i 1] 1
Carpet, Front Seat Foot Rest, Side, Right.... | 210013 | 491 1
: Carpet, Front Seat Foot Rest, Side, Left..... 210014 | 491 1
30-20-28 | Carpet, Front Seat Foot Rest, Center, Lower.. | 210045 | 411 1§ 1|1 1
Cover, Front Seat Foot Rest, Center, Upper
(used without Arm Best and Balster en 492). | 210044 | A11 11 1| 2 1
Carpet, Front Seat Foot Rest.............0c0u.. 210327 | 491 1
Drive Screw (to attach Foot Rest Side
CarPet) . v as vt atansartub sttt et 18sbsta 205670 | A1l 10110 (10 10
30-20-24 | Welt, Front Seat Frame........c-ccccvsnrcasnns 210026 | A1l 1] 1)1 1
30-20-25 | Panel, Seat Frame Back Trim,........ bl alabateteTepe 210030 | 491 1
Panel, Seat Frame Back Trim (used WIthDut
Arm Rest and Bolster) .. ... e e nnnnccnss 210097 | 492 1

* As required

267




y

30.600 INTERIOR TRIM
BODY STYLES
HE
FIGURE PART 2.2, =
MUMBER GROUP, PART MAME and DESCRIPTION NLIMBER MODELS s E z E %
- ] > = .
NEREREEr
30.616 - FRONT SEAT CUSHION AND SEAT BACK
{Cont'd)
Panel, Seat Frame Back Trim (used without
Arm Rest with Bolster) .. .........0... i age e 210136 | 492 1
Fastener..........ccccvuun R R e s 202301 | 491,492 25
- i ¥Yalance, Seat Frame to Center Pillar Brace
| e L. - B T 210333 | 492 1
Valance, Seat Frame to Center Pillar Brace
(Leather)...........cueuua. e « | 210334 | 492,496 1| 1
L2l o i P P i TR AT R S ST +. | 206366 | 492,406 11§11
30.620 - REAR SEAT CUSHION AND SEAT BACK
Cushion Complete, Seat............ VPV B e e 210029 | 491 1
. Cushion Complete, Seat (Vinylite)............ 210287 | 491 1
| Cushion Complete, Seat (Vinylite)............ | 210174 | 491
' Cushion Complete, Seat (without Bolsterj)..... 210098 | 492 1
Cushion Complete, Seat (with Bolster)........ 210137 | 492 1
Cushion Complete, Seat (Leather)........ teaae | 2LO2ZBO | 402 1
Cushion Complete, Seat {without Bolster)..... 210198 | 492 1
Cushion Complete, Seat (with Bolster)........ 210199 | 492 1
Cushion Complete, Seat (Vinylited)............ | 210286 | 402 1
Cushion Complete, Seat...........uuvnvunennnn. 210099 | 485 i
Cushion Complete, Seat..........0cvevunenens « | 210028 | 496 1
Cushion Complete, Seat (Leather)............. 210248 | 492,496 1
Cushion Complete, Seat (Leather and Bedford). | 210272 492,496 1
Cover, Seat Cushion... .. ........cconimsnnnnn. 210032 | 491 i
Cover, Seat Cushion (Vinylite)............... |210328 | 491 1
Cover, SBeat Cushion (Vinvlite)............... 210175 | 491
Cover, Beat Cushion (without Bolster)..... eee | B1O100 | 492 1
Cover, Seat Cushion (with Bolster)........... 210138 | 492 1
Cover, Seat Cushion (Leather)................ 210290 | 492 1
Cover, Seat Cushion (Leather)............o... 210223 | 492,496 1
Cover, Beat Cushion (Leather and Bedford).... | 210224 4592 ,496 1
Cover, Seat Cushion (without Bolster)........ 210200 | 482 1
Cover, Seat Cushion {(with Bolster).......... . | 210201 | 492 1
Cover, SBeat Cushion......... ............ feeas [ 210101 | 495 1
Cover, Seat Cushion.........eeeeennnnssnsnnns 210031 | 498 1
Pad, Seat Cushion (Rubber}.............0ueves 205368 | 491
Pad, Seat Cushion (Rubber){used with Bolster) | 205358 492,495 1 1
Pad, Seat Cushion (Rubber)(used without
Bolster) ... .. ivinnnnennnans S E B e i e mma s . | 205367 | 492 1 1
Pad, Seat Cushion (Rubber)...........co0..... 206098 | 492,496 1
Pad, Seat Cushion (Rubber).............. srena | 205369 | 495 1
Pad, Seat Cushion (Rubber).............0..... 206344 | 4582 1
30-20-1 | Cushion Complete, Seat BacK.........oo0ovun... 210035 | 491 1
Cushion Complete, Seat Back (Vinylite)....... 210284 | 491 1
Cushion Complete, Seat Back (Vinylite)....... 210176 | 491
Cushion Complete, Seat Back (without Arm Rest
and Bolster)..........c.u.u. AN bE sa s mmrrE s 210102 | 492 1
Cushion Complete, Seat Back (without Arm Rest
2 With Boleter) . .. ... it virrnnnnnnnncnssnns 210139 | 492 1
Cushion Complete, Seat Back (with Arm Rest
and BolSter) .. ..ottt i nnnnin e AN L 210140 | 492 1
268




INTERIOR TRIM

30.600

BODY STYLES |
=z _‘
FIGLRE PART 8 ] =
GROUP, PART NAME and DESCRIPTION MODELS *lelalzl3
MUMBER MUMBER S| &l2|2|=%
- L o =2 —
HENERERE
30.620 - REAR SEAT CUSHION AND SEAT BACK
(Cont’d)
Cushion Complete, Seat Back {(with Arm Rest
without Bolster).......ovvenunns, SRR 210141 | 492 1
Cushion Complete, Seat Back (with Arm Rest
without Bolster)(Leather)........ccevveeunn 210291 | 492 1
Cushion Complete, Seat Back (Leather)........ 210244 | 492 1
Cushion Complete, Seat Back (Leather and
Bedford) ... .....iinvernnennnennnnans T 210270 | 492 1
Cushion Complete, Seat Back (without Bolster) | 210202 | 452 1
Cushion Complete, Seat Back (with Bolster)... | 210203 | 492 1
Cushion Complete, Seat Back (Yinylite)....... 210285 | 492 1
Cushion Complete, Seat Back {(with Arm Rest).. | 210103 | 485 1
30-21-3 | Cushion Complete, Seat Back (Bedford with
Arm Rest)......... o i e B o p it el 210034 | 496 1
20-21-3 | Cushion Complete, Seat Back (Broadcloth with
Arm REOSt) . ... iiinumsesssnasnnnnnaasnonssa +++ | 210033 | 496 1
Cushion Complete, Seat Back (Leather)........ 210245 | 496 1
Cushion Complete, Seat Back (Leather
and Bedford)............ P At R iR FaE s mr e 210275 | 496 1
Cover, Seat Back Cushion.........cievnnnennnn 210038 | 491 1
Cover, Seat Back Cushion (Vinylite).......... 210329 | 491 1
Cover, Seat Back Cushion (Vinylite).......... 210177 | 491 1
Cover, Seat Back Cushion (without Arm Rest
and BOLlSteT ) .o e venron v nnmnns snanantasssns 210104 | 492 1
Cover, Seat Back Cushion (without Arm Rest
with Bolster). ... ovvevuwinsns R P S 210142 | 482 1
Cover, Seat Back Cushion (with &rm Rest and
BOlStEr ) ..y it i st innnsrtnnsnanaranannmns 210143 | 492 1
Cover, Seat Back Cushion {(with Arm Rest
without Bolster) .........0cu.. 210144 | 402 1
Cover, Seat Back Cushion (with Arm Rest
without Belster)(Leather). v reanasea. | 210292 | 402 1
Cover, Seat Back Cushion (Lenther} ........... 210225 | 492 1
Eaver, Seat Back Cushion (Leather and
Bedford) ... ... ..cocii e inaa e - | 210225 | 492 1
Cover, Seat Back Cushion (without Bolster)... | 210204 | 492 1
Cover, Seat Back Cushion (with Bolster)..... . | 210205 | 492 1
Cover, Seat Back Cushion (with Arm Rest)..... 210105 | 495 1
Cover, Seat Back Cushien (Bedferd with Arm
Rest)..ovievuns o A N R RPNES S I S £ 210037 | 496 1
Cover, Seat Back Eushiun (Broadcloth with
Arm Rest) . .. ionvanrianansanranasvannancsass 210036 | 496 1
Cover, Seat Back Cushion (Leather})........ e.. | 210227 | 496 1
Cover, Seat Back Cushion {(Leather and
Bedford) .. .ouine i inin s st et rar e 210228 | 496 1
Arm Rest, Center {(used without Bolster)...... | 210129 | 4592 1
Arm Rest, Center {used with Bolster)......... 210130 | 492 1
Arm Hest, Center {used without Bolster)
(Leather ). ... viineie s nnrancnasnnnnennnna 210331 | 492 1
Arm Rest, Center (Leather). ceeaes | 210246 | 492 1
Arm Rest, Center {Leather and Bedfnrd} ....... 210271 | 492 1
Arm Rest, Center {(used with Bolster}......... 210206 | 492 1

269




/

30.600 INTERIOR TRIM
BODY STYLES
z
FIGURE PART g 3 F
L] J B oL
MUMEER GROUP, PART MAME and DESCRIPTION YT MODELS % E % .E_ %
- [¥] o= = =
HIERERERE
30,620 - REAR SEAT CUSHION AND SEAT BACK
{Cont’d)
Arm Rest, Center (used without Bolster)...... 210207 | 492 1
Arm Rest,; Center......c.cciivivicicncncinsnsas 210106 | 495 i
30-21-2| Arm Rest, Center......cctnccnanevscancnnannan 210049 ) 496 1
Arm Rest, Center (Leather)........cceveuvunes 210247 | 4986 1
Arm Rest, Center (Leather and Bedford)....... | 210276 | 496 1
Cover, Center Arm Rest (incl, Strap)(used
without Bolster)......cocecceeses S e .. | 210131 | 492 1
Cover, Center Arm Rest (incl. Strap)(used
with Bolster)...evevennnnrnrennn T T 210119 | 492 1
Cover, Center Arm Rest (incl. Strap)(used
without Belster}(Leather).............c0.u. 210332 | 492 1
Cover, Center Arm Rest (inel. Strap)({Leather) | 210231 | 492 1
Cover, Center Arm Rest (incl. Strap)(Leather -
and Bedford)..viviiriannnnaninannnannnaas 210232 | 492 1
Cover, Center Arm Rest {(incl. Strap)......... 210208 | 492 1
Cover, Ceater Arm Rest {(incl. Strap)......... 210107 | 495 1
Cover, Center Arm Rest (incl. Strap)......... | 210093 | 496 1
Cover, Center Arm Rest (incl. Strap){Leather) | 210229 | 496 1
Cover, Center Arm Rest (incl. Strap)(Leather
and Bedford) .......ccnivi it aei s 210230 | 496 1
Yalance, Center Arm Rest (used without
Bolster on 492, ... iunnn v anannasnsnnnnns 210108 | 492,495 1
Yalance, Center Arm Rest (used with Bolster). | 210133 | 492 1
Valance, Center Arm Rest.........ccuvcunnnnn- 210209 | 492 1
Valance, Center Arm Rest. ... ... cccuviccraans 210084 | 496 1
Valance, Center Arm Rest (Leather)........... 210233 | 492,496 1
Yalance, Center Arm Rest (Leather and
Bedford):...ccccciiiimanaiinnsssomsnsannnne 210234 | 492,486 1
Linkape, Arm Rest, Ripht.... ... ..o veevnnna. | 203168 | 492,405 496 1
Linkage, Arm Rest, Left. . ...... ..o iiuinnnans 2031868 | 492,485,496 1
Bolt, 1/4"=20 x 3/4" Rd. Hd. )

Cr. ReC. . icsvesssvssns ATt to Ao 621 | 492,495,496 *
Flatwasher, 174" 8m........... Bupport|.... 243 | 492,495,498 *
Lockwasher, 174" Med.......... 190 | 492,495,496 | *

Bolt, 1/4"-20 x 1 1/4" Rd. Hd. A

L T P e e O CR i 669 (492,495,496 *
Flatwasher, 1/4" Bm........ Rast 243 | 492,495,496 *
Lockwasher, 1/4" Med.......... e fatale 190 | 492,495,496 *

Spring, Valance to Seat Back Support......... | 203170 | 492,495,496 2

Linkage, Arm Rest, Right......cviuevrinnrenns 206070 | 492,406 1

Linkage, Arm Rest, Left...... ... 00ciinnnnnnnn 206071 | 492,496 1

Linkage, Arm Rest, Right... ... . courvviniann 206072 | 492 1

Linkage, Arm Rest, Left........... AT e 206073 | 492 1
Bolt, 1/4"-20 x 5/8" Rd. Hd.

Grlf Rac taniet BRI oy LLIIRED [ 505 | 492,496 +
Lockwasher, 1/4" Med.......... Spr:ng 190 | 492,496 | *
Hut, 1/4"-20 Hx. Lt........... PR 203 | 492,496 *
Bolt, 1/4"=20 x 5/8" Rd. Hd. Linkage

Cr. BeC.covrianvnran aln s inielerate to . 505 | 492,495 *

4 Lockwasher, 1/4" Med.......... Basze 190 | 492,486 *
* As required
270

5Eﬁﬁ==:=:E==EE5::=!!EE======zz!___________________________________________________________________________________4




INTERIOR TRIM 30.600
S0ODY STYLES I
i r
. FIGURE PART g 3 a
4 GROUF, PART MNAME and DESCRIPTION MODELS HEAH R E
! NUMBER NUMBER HEIEIELE
., - | =|35 -
HERERERE
.}r 30.620 - REAR SEAT CUSHION AND SEAT BACK
i {Cﬂﬂt,d}
J‘ Bolt, 1/4"-20 x 5/B" Rd. Hd. [Spring
: Cr. BOl. osiciicinananns saman to (el Eag 505 | 492,496 *| *
| Lockwasher, 1/4" Med...... +.+..| Base 190 | 492,496 *| *
| Spring, Valance to Seat Back Support......... | 206074 | 492,496 1
Spring, Valance te Seat Back Support......... 208075 | 492 1
30.624 - LUGGAGE SHELF TRIM PANEL
Panel, Rear Shelf Trim.........,....0v0enue... | 210046 | ALL 1 1
Panel, Rear Shelf Trim............... ... .00 | 210109 | 402 1
Fastener..... e e et Lo v faE s 202452 | A1l 4 4
I
30.626 - SUN VISOR
30-20-16 | Panel, Sun Visor (oblong Finger' Tip Pads)
D o N o G e A O g Pt o e 210041 | 491,492 495 2
30-21-24 | Sun Visor (incl. Arm and Bracket) (oblong
Finger Tip Pads)(Cloth}.....ceoeviennavscess 210040 | 492 2
30-21-24 | Bun Visor (imcl. Arm and Bracket)({oblong
Finger Tip Pads)(Cloth). ... cci e inrnnnnnnnn 210040 | 498 ¢ 2
Panel, Sun Visor (Oval Finger Tip Pads)
(CLoth) . vius i ivvmtssnenrinmmsrsnnesnnnnsns 210132 | 491,492,495 P
o Sun Visor (incl. Arm and Bracket){(Oval
Finger Tip Pads){(Cloth)........ ... .. ... 210145 | 492 a
Sun Visor (incl. Arm and Bracket){Owval
Finger Tip Pads){Clath)...... ST Taa o e fntates 210145 | 496 ¢ 2
Panel, Sun Visor (Vinylite).....ceevinennnans 210116 | 491,495 2 1] 2
Panel, Sun Visor (Vinyvlite).................. 210116 | 492 2 2
) Sun Visor (incl. Arm and Bracket)(Vinylite)
(Leather Jobs enly)....... Ol AR A 210115 | 492 21 2
Sun VYisor (inc. Arm and Bracket) (?inyllte}
(Leather Jobs only). I I T SO 210115 | 496 2| 2
Serow, No. 10-12 x 1;’2" Ov. Hd. Cr. Rec.
Tap. (Chreme) .. ... ... ... riiinnnrnnnanrns 441 [ 411 * &) k| x| =
Arm and Bracket, Sun Visor, Right............ 202650 | 491,492,495 1 1 1
Arm and Bracket, Sum Visor, Left............. 202651 | 491,492,495 1 1| 1
’ 30.628 - ROBE RAIL CORD
A 30-20=26 | Cord, Robe Rail.........¢o0ncecenmss FEEA B b a e 210047 | 491 1
Cord, Robe Rail (Vinylite)....... tadEu et 210210 | 491 1
i BAY . cnvrvs s i o L e 200724 | 491 2
. L e oo i 200725 | 491 o
. 3 T 200723 | 491 2
30-20-30 | Escutcheon, Robe Rall Cord.......cvuuununvnas 200726 | 491 2
Serew, No. 10-32 x 1/2" Ov. Hd. Cr. Rec.
(Chrome) .. .. ooncusa. irsastescsaarsas-sss | 20O0B0B | 491 4
Cord, Robe REtll (Ti’illﬂltE} ................... 210162 | 491 1
Screw No, 8-32 x 578" Ov. Hd. Cr. Rec..... T12 | 491 4
Lockwasher, No. B Ext. Tooth............... 447 | 491 4
¢ Hut, No. B=32 BX......vevvirarvsrnnsnrsannan 272 | 491 4
"
r * As required

271




30.600 INTERIOR TRIM
BODY STYLES
FIGURE PART 5 z
GROUP, PART MAME d DESCRIFTION MODELS dlelz|=| 2
MUMBER : 0 NUMBER 2|2|8|5|%
= || > 2]~
1| 2]a|s|a
30,630 - FLOOR MATS, CARPETS, DASH
INSULATING PADS
Left Hand Drive ,
30-20-20 | Mat, Front Fleocor (Hickory Brown}............. 205064 | 491 i i
30-20-20 | Mat, Front Floor {(Hickory Brown)}............. | 205064 | 491,492 1
30=20=20 | Mat, Front Floor (Solar Gra¥).......cceeess.. | 205065 | 491 1 1
30-20-20 | Mat, Front Floor (S0lar Gray). ... ccvennnsnes 205065 | 491,492 1
30-20-20 | Mat, Front Floor (Black).............cuu..... | 205250 | 491 1 1
30-20-20 | Mat, Front Floor (Black)........cuuieuvunenn- 205250 | 491 ,402 1
30-20-20 | Mat, Front Floor (Crystal Green)............. | 205872 | 491 1 1
30-20-20 | Mat, Front Floor (Crystal Green)......coeee.. 205872 | 491,492 1
30-20-20 | Mat, Front Floor (Emblem Blue)............... | 205873 | 491 1 1
30-20-20 | Mat, Front Floor {(Emblem Blue)........ a1 ik . | 205873 | 491,492 1
30=20-20 | Mat, Front Floor (Maroon)....... T o L 205874 | 491 1 1
30=20-20 | Mat, Front Floor (Maroon)............. T 205874 | 491,492 1
Right Hand Drive
Mat, Front Floor (Hickory Brown)....... sreva. | 205066 | 491 1
Mat, Front Floor (SOLal GIa¥)...veerervernans 205067 | 4917 1
Mat, Front Fleoor (Black)..........cccuuiunnn. 205251 | 491 1
Mat, Front Floor (Crvstal Groeef) o...vcveeeaen 205875 | 491 1
Mat, Front Floor (Emblem Blue)........ vesce.s | 205876 | 491 1
Mat, Front Floor (Maroon)...:.:.:045.5 e a 205877 | 491 1
Left Hand Driwve
30=21-34 | Carpet, Front Floor (Black)........cccuuucua- 205050 | 492,495,496 1
30-21-34 | Carpet, Front Floor (Emblem Blue)............ | 205051 | 492,495,496 1 f
30-21-34 | Carpet, Front Floor (Marcon)}............. cee. | 205052 | 492,495,496 1
30-21-34 | Carpet, Front Floor (Hickory Brown).......... 205053 | 492,405,496 1
30-21-34 | Carpet, Front Floor (Crystal Green).......... 205054 | 492,495,496 1
30=21-34 | Carpet, Front Floor (So0lar Gra¥)....eeseecees 205055 | 492,495,496 1
30-21-34 | Carpet, Front Floor (Teal Blue).....ccoeseses 205056 | 492,495,496 1
Carpet, Front Floor (Blaek)..... Y [ R seae. | 206130 | 492,406 1|1
Carpet, Front Floor (Emblem Blue}............ | 206131 | 492,486 1|1
Carpet, Front Floor (Maroon)..........ceececu. 206132 | 492,496 11
Carpet, Front Floor (Hickory Brown).......... 206133 | 492,496 1|1 .@ﬁ
Carpet, Front Floor (Crystal Green}.......... 206134 | 492,496 111 v
Carpet, Front Floor (Teal Blue)......cooveeas 206135 | 492,496 1|1
Right Hand Drive
Carpet, Front Floor (Black).......cvuveevucns 205597 | 495 1
Carpet, Front Floor (Emblem Blue)............ 205598 | 495 1
Carpet, Front Floor (Maroon)}.......eoece0002000 205599 | 485 1
Carpet, Front Floor {Hj_cknr.jr Brown)....... .. | 205600 | 495 i
Carpet, Front Floor (Crystal Green)..... ves.. | 205601 | 495 1
Carpet, Front Floor (Solar Grav).....c..ve-0. 205602 | 495 1
Carpet, Front Floor (Teal Blue).............. | 205603 | 495 1
¢ Left Hand Drive ﬁ:’\_
Pad, Dash Insulating (Teal Blue).......... ... | 205228 | AL1L 1 1|11 :
s -
272
TR—— = Ty e e




INTERIOR TRIM 30.600
BODY STYLES
X FIGURE PART 2 E
o =L o
. T GROUFP, PART MAME and DESCRIPTIOM ST MODELS ; 3 é E g
| 21E15]E
HEERER
30.630 - FLOOR MATS, CARPETS, DASH
INSULATING PADS (Cont’d)
! Left Hand Driwve (Cont'd)
| ] [l
J Pad, Dash Insulating (Emblem Blue).......... | 205057 | A1 1 1] 1] 1
¢ Pad, Dash Insulating (Marcon).........oo0.00.. 205058 | A1l 1 1] 1] 1
Pad, Dash Insulating (Hickory Brown)}......... | 205059| A1l 1 1] 11 1
| Pad, Dash Insulating. (Crystal Green)......... 2050680 | A1l 1 il 1] 1
| Pad, Dash Insulating (Solar Grav)............ | 205061 A1l 1 1] 1] 1
| o Pad, Dash Insulating (Black)................. 205062 | A11 1 1| 1| 1
| Right Hand Drive
' Pad, Dash Insulating (Teal Blue)............. 205462 | 491,495 1
Pad, Dash Insulating (Emblem Blue)........... 205456 | 491,493 1
Pad, Dash Insulating {(Marocon)............... . | 205457 | 491,495 1
Pad, Dash Insulating (Hickory Brown)......... 205458 | 491,495 1
| Pad, Dash Insulating (Crystal Greenm)......... 205459 | 491,495 1
| Fad, Dash Insulating (Solar Gray)}............ | 205460 | 491,495 1
: Pad, Dash Insulating (Black)..........0cuuou. 205461 | 491,485 1
Left Hand Drive
Pad, Dash Insulating (Teal Blue)......:.vuuu. 205460 492,496 1
Pad, Dash Insulating (Emblem Blue)........... | 205463 | 482,406 1
Pad, Dash Insulating (Maroon). ceraaseanaas | 205464 | 492,408 1
| Pad, Dash Insulating (Hickory Brown} ........ . | 205465 | 492,496 1
Pad, Dash Insulating (Crystal Green}......... | 205466 | 492,496 1
Pad, Dash Insulating (Solar Grav)...... et 205467 | 492,496 1
Pad, Dash Insulating (Black).........cuveueu. 205468 | 492 496 1
Pad, Dash Insulating (Teal Blue){used with
Yacuum Window Lift)....ovveviunnvenrasancsns 205476 | 492,496 1 1
Pad, Dash Insulating (Emblem Blue){used with
Vacuum Window Liftd.......... ... oo coe | 205470 | 492,496 1 1
Pad, Dash Insulating (Maroon){(used with
Vacuum Windew Liftl)........... ... ... see.. | 205471 | 492,496 1 1
Pad, Dash Insulating (Hickory Brown) (used
with Vacuum Window Lift)......... ... cuvune. 205472 | 492,496 1 1
‘ Pad, Dach Imnsulating (Crystal Green) (used
\ “with Vacuum Window Lift)................... 205473 | 492,496 1 1
Pad, Dash Insulating {(Solar Grn?}(used with
Vacuum Window Lift). e i caeaae | 205474 | 482,496 i i
Pad, Dash Insulating {Blnck}{us&d with
4 Vacuum Window Lift)..... Srae e trerrannaes | 205475 | 402,406 1 1
Fastener...... . bedsansaisanansnnensnnnnses | 205063 | AL Q) 9] 9 9| O
i 30-20-23 | Carpet, Rear Plnor fae e saenaaae s | 210048 | A1 1
! Carpet, Rear FlooT......ciiivinnnnnnciannnnas 210257 | 492,496 1] 1
4 Mat, Rear Floor Riser (Crystal Green)........ 206345 | 491,492 1
] Mat, Rear Floor Riser (Marcon)............... 206346 | 491,492 1
' Mat, Rear Floor Riser (Hickeory Brown)........ | 208347 | 491,492 1
Mat, Rear Floor Riser (Emblem Blue).......... 208348 | 491,492 1
Q " Mat, Rear Floor Riser (Black)........ sieesess | 208349 | 491,492 1

273




30.600 INTERIOR TRIM
BODY STYLES
E]
FIGURE PART e ] .
GROUP, PART NAME and DESCRIPTION MODELS i EEA R
MUMBER MUMEBER Sl3| 8|2 =
o i - =] =
HERERERE
30.630 - FLOOR MATS, CARPETS, DASH
INSULATING PADS (Cont'd}
Retainer, Rear Floor Mat Riser (Prime}....... 206355 | 491,492 1
Screw, No. 10-12 x 1 1/2" Rd. Hd. Cr. Rec.. 650 | 491,492 6
Mat, Rear Fleor {inel. Pad)(Crystal Green)... | 206350| 451,402 1
Mat, Rear Floor (incl. Pad)(Marocom}......... .| 206351 | 491,492 1
Mat, Rear Floor (incl. Pad){Hickory Brown)... | 208352 | 491,492 1
Mat, Rear Fleoor (incl. Pad)(Emblem Blue)..... 206353 | 491,492 1
Mat, Rear Floor (imcl. Pad)(Black)...........| 208354 491,492 i
Serew with L/AW . ... .. ittt iansnnannan 203872 | 491,492 14
Hat, Rear Fleor (Hickeory Eruwn} .............. 205769 | 491 1
Hat, Rear Floor (Crystal Green).............. 205770 | 491 1
Hat, Rear Floor (Maroonl).....oeeseanescssssns 206356 | 491 1
30-2-16 | Mat, Rear Compartment Floor............cc..00. 205263 | 491,402 ,495 1 1
Mat, Rear Compartment Fleor (Hickory Brown).. | 205773 | 491 1
Mat, Rear Compartment Floor (Crystal Green).. | 205774 | 491 1
Mat, Rear Compartment Floor (Maroon)}......... 206357 | 491 1
Carpet, Rear Compartment Floor (Leather Trim
17 e ] P g 205264 | 492 1
Carpet, Rear Compartment Floor............... 205264 | 492 1
Carpet, Rear Compartment Floor............... 205264 | 496 1
Carpet, Rear Compartment Floor.......cove0.a- 206087 | 492,496 1
Carpet, Rear Compartment, Side, Bottom, Left
{Leather Trim only) ... ' oo nrnnrmrrnessnas 205265 | 402 1
Carpet, Rear Compartment, Side, Bottom, Left. | 205265 | 492 1| 1
Carpet, Rear Compartment, Side, Bottom, Left. 205265 | 496 11 1
Carpet, Tool Compartment (Leather Trim only). | 202877 | 492 1
Carpet, Tool Compartment. A R L 202677 | 492 1| 1| 1
Carpet, Fuel Tank Filler Heck Cuver {Leathﬂr
Trim onl¥)....cuouue..s Py 203443 | 492,496 1
Carpet, Fuel Tank Filler Heck Cover (Leather
TCAM OOLY) ¢ v vnsncncconcmmccesstotananannnnns 203443 | 492,496 i 1
Insulation {Roll) Rear End of Rnuf Rail...... 205371 | A1l 2
30.632 - FOLDING TOP
Top, Folding (less Frame){used with Plastic
Rear WindowW).......... e fe o aaan o S L 210296 | 492,496 1
Curtain, Top, Back (used with Plastic Rear
WindOoW) .. ossssnnmunncansnbssisanamnmunnnrs 210297 | 492,496 1
Evelet, Back Curtain Fastener (used with
Plastic Rear Window)............... . 206195 | 492,496 6
Washer, Back Curtain Fastener (used with
Plastic Rear Window) ......c:cvonivnnnnans . 206196 | 492,496 6
Pad, Support, Right (used with Plastic Renr
Window)....... AT Th O 1 S 210298 | 492,496 1
! Pad, Support, Left (used with Plastic Rear
WindoWw)...uvnuws Ay R S e iaga ava 210299 | 492,496 1
Well, Folding Top..... Py S 210330 | 492,496 1
Listing Wire, Folding Top Well........ccouvnns 206364 | 492,496 1
Screw, No. 10-32 x 5/8" Rd. Listing
- Hd. Cr. ReC. .. .cuevncransans Wire 688 | 492,496 2
Lockwasher, No. 10 Ex. Tooth.. to 2904 | 492,406 2
Nut, WNo. 10-32 Hx.............|Support 202 | 492,496 2
~d
Ha 274

')

&




INTERIOR TRIM 30.600
BODY STYLES

=
FIGURE PART g E -
. B GROUP, PART MAME and DESCRIPTION RS MODELS " E é g %
= n) = =1 fad
1 ki 4 a &

30.632 - FOLDING TOP (Cont'd)

Retainer, Side Quarter Panel Fastenmer........ 206197 | 492,496 6
Serew, No. 6-1B x 3/8" F1l. Hd. Cr. Rec.
1 8 e W s S 510 | 492,496 12
| Stud, Side Quarter Panel Fastener............| 206198 | 492,496 6
| Button, Side Quarter Panel Fastener.......... 206199 | 492,496 6
Cover, Linkage Inclosure, Right.............. | 210300 | 492,496 1
Cover, Linkage Inclosure, Left...........v0.. 210301 | 492,496 1
o 30,634 - ROOF COVER
NOTE: Paint Code must be specified when
I ordering Cover,
| CavET i e et L A 210238 | 492 it

275




	kfpm460257.jpg
	kfpm460258.jpg
	kfpm460259.jpg
	kfpm460260.jpg
	kfpm460261.jpg
	kfpm460262.jpg
	kfpm460263.jpg
	kfpm460264.jpg
	kfpm460265.jpg
	kfpm460266.jpg
	kfpm460267.jpg
	kfpm460268.jpg
	kfpm460269.jpg
	kfpm460270.jpg
	kfpm460271.jpg
	kfpm460272.jpg
	kfpm460273.jpg
	kfpm460274.jpg
	kfpm460275.jpg

